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1. Complete each of the following statements. (8 KU)
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2. Rewrite

(a) —3a’b=log,(7a —533)2 in exponential form. (2 KU)
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3. Use the laws of logarithms to write the following expression as a

single logarithm. Simplify fully! (4 APP)
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4. Evaluate without a calculator. Show all work!
(3 APP)
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5. Solve each of the following equations.
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6. Use the grid shown below to sketch the graphs of the functions f(x)=log, (x+2) and g (x)=log, x+log, 2. Then kﬂaf]\_:.(
explain how the graphs tell you that log, (x+2)#log, x+log,2. (4 APP, 2 COM)
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7. Five hundred dollars is invested at a rate of 5.2% per annum wmpounded weekly. How long would it take for the value of
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